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206 | 20 [+kmes| 1 | 113/3/4(-) | 12:40 13:00 13:06 | TREEHZ (THUAIE2F)
201| 23 || 2 | 113/3/4(-) | 12:40 13:03 13:09 | TREEHZ (THUKIE2F)
208 13 |m s = 3 | 113/3/4(-) | 12:40 13:06 13:12 | TREEHZ (THUKIE2F)
205| 20 || 4 | 113/3/4(-) | 12:40 13:09 13:15 | TREEHZ (ITHUKIE2F)
207 | 26 | @A | 5 | 113/3/4(-) | 12:40 13:12 13:18 | TREEHZ (ITHUKIE2F)
211 4 |3 4% | 6 | 113/3/4(-) | 12:40 13:15 13:21 TRIBH T ((TEURIEZF)
210 10 | pag| 7 | 113/3/4(-) | 12:40 13:18 13:24 | TREEHZ (ITHUKIE2F)
208 22 |m~ | 8 | 113/3/4(-) | 12:40 13:21 13:27 | TREEHZ (THUKIE2F)
206 | 26 [# 4| 9 | 113/3/4(-) | 12:40 13:24 13:30 | TREEHZ (ITEUKIE2F)
204 | 18 [ #xer| 10 | 118/3/4(- ) | 12:40 13:27 13:33 | TREEHZ (THUAIEF)
201 | 6 |sacsp| 11 | 113/3/4(-) | 12:40 13:30 13:36 | TREEHZ (TEUKIEZF)
202 12 [ 2| 12 | 1137374 ) | 12:40 13:33 13:39 | TREEHZ (THUKIEF)
202| 11 | & & [ 13| 113/3/4(-) | 12:40 13:36 13:42 | TREEHZ (THUKIEF)
210| 3 | &z | 14| 113/3/4(-) | 12:40 13:39 13:45 | TREEHZ (THUAIE2F)
203 | 25 | w45 | 15 | 113/3/4(- ) | 12:40 13:42 13:48 | TREEHZ (THUKIELF)
203| 4 [m# B[ 16| 113/3/4(- ) | 12:40 13:45 13:51 TREHZE (THUAIEF)
211 12 |2 & | 17 | 113/3/4(- ) | 12:40 13:48 13:54 | TREEHZ (THUAIELF)
209 | 12 |mared 18 | 113/3/4(-) | 12:40 13:51 13:57 | TREEHZ (THUKIE2F)
205| 24 | m4r| 19 | 113/3/4(- ) | 12:40 13:54 14:00 | TREEHZ (THUAIEF)
207 | 25 |#meE < | 20 | 113/3/4(- ) | 12:40 13:57 14:03 TRISEZE (1T BUKIE2F)
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105| 2 | | 1 | 113/3/4(-) | 12:40 14:09 14:15 | TREEHZ (THUKIE2F)
106 | 25 [#g=4p| 2 | 113/3/4(-) | 12:40 14:12 14:18 | TREEHZ (THUKIE2F)
103| 30 [=@m4=| 3 | 113/3/4-) | 12:40 14:15 14:21 TREHZ (THUAIEF)
111 | 15 |gaprev| 4 | 113/3/4(- ) | 12:40 14:18 14:24 | TREEHZ (THUKIE2F)
104 | 11 |#makzk| 5 | 113/3/4(-) | 12:40 14:21 14:27 | TREEHZ (THUKIE2F)
103 | 23 |4 & 6 | 113/3/4(-) | 12:40 14:24 14:30 | TREEHZ (TEUKIE2F)
108 11 [% 2| 7 | 113/3/4(-) | 12:40 14:27 14:33 | TREEHZ (THUKIE2F)
112 | 22 [#¢=x 43| 8 | 113/3/4(- ) | 12:40 14:30 14:36 RIS = (1THUKIE2F)
102 | 18 | &8 | 9 | 113/3/4(-) | 12:40 14:33 14:39 | TREEHZ (THUKIE2F)
105 | 27 [% % 5[ 10 | 113/3/4(- ) | 12:40 14:36 14:42 | TREEHZ (THUKIE2F)
102 | 25 |fgeeg | 11 | 113/3/4(-) | 12:40 14:39 14:45 | TREEHZ (ITHUKIELF)
106 | 12 [% &~ 4| 12| 113/3/4(-) | 12:40 14:42 14:48 | TREEHZ (THUKIE2F)
109 1 | %3 & 13 | 113/3/4-) | 12:40 14:45 14:51 TREEHZ (THUAAE2F)
107 | 24 |z 48| 14 | 113/3/4(- ) | 12:40 14:48 14:54 | TREEHZ (ITHUAIE2F)
104 | 28 | % 4z4i| 15 | 113/3/4(- ) | 12:40 14:51 14:57 | TREEHZ (ITHUKIE2F)
101| 26 #2316 | 113/3/4(- ) | 12:40 14:54 15:00 | TREEHZ (ITHUAIE2F)
112 7 [ & %[ 17| 113/3/4(- )| 12:40 14:57 15:03 | TREEHZ (ITHUAIE2F)
113 | 24 |g445| 18 | 113/3/4(- ) | 12:40 15:00 15:06 | TREEHZ (THIAIEF)
108| 9 L k| 19 | 113/3/4(-) | 12:40 15:03 15:09 | TREEHZ (THUAIE2F)
114 3 [z gagk | 20 [ 113/3/4(- ) | 12:40 15:06 15:12 | TREEHZ (ITHUKIE2F)
110 | 21 |47 pe4a| 21 | 113/3/4(- ) | 12:40 15:09 15:15 | TREEHZ (ITEUKIE2F)




